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Instructions for the Candidates

. Write your Rell Number in the space provided on the top of this page.

- This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory.

- At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a baoklet
without sticker seal and do not accept an open booklet.

{ii) Tally the number of pages and number of questions in the booklet with the information printed on the cover page.
Faulty booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should
be got replaced immediately by a correct booklet from the invigilator within the period of 5 minutes. Afterwards,
neither the Question Booklet will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR
Answer Sheet Number should be entered on this Test Booklet.

. Each item has four alternative responses marked (A}, (B}, (C) and (D). You have to darken the oval as indicated below on
the correct response against each item.

Example: (A" € (C> (D> where (B) is the correct response.

. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — I only. If you mark your
response at any place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.

. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except
for the space allotted for the relevant entries, which may disclose your identity, or use abusive language or employ any
other unfair means, such as change of response by scratching or using white fluid, you will render yourself liable to
disqualification.

. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and
must not carty it with you outside the Examination Hall. You are however, allowed to carry original question booklet anc
duplicate copy of OMR Answer Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking,

. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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1.

PHYSICAIL EDUCATION
Paper - 11

The headquarters of the International 1. Mld??lb&ﬂﬂ_ WRAMs AR
:Zr)llympm Committee (I0C) is located . L2l of M5 AU B
(A) Paris — France (A) Al - &l
(B) Lausanne — Switzerland (B) Cj%-lla — 1 {l%qA08
(C) London — England (C) Esel ~ QA5
(D) Rome — Italy (D) AX - galcll
Which philosophy of Education . Rl 58 Gaygl wRdds wogedl

emphasizes learning through
physical experiences ?

(A) Pragmatism
B) Idealism

C) Realism

(D) Existentialism

(
(

. Psychomotor domain can be broadly

classified into

(A) Motor and organic domain
(B) Psychological domain
(C) Physiological domain

(D) Morphological domain

. Which country was instrumental in

developing outdoor education in the
early 20" century ?

(A) USA

(B) Australia
(C} England
(D) Germany

gt elluatal v eur Y3 .
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(C) clireldscl

(D) AReAcclelle
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(A) WeR Alos a5 SRt
(B) MaSASE SlHA

(C) (BN AWsAH SRt

(D) HRSAP)SE SlHot
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(Qawgia [QsutclatHi 520 2ot Hecelall
UL elelcll dll.

(A) y.aAuA

(B) ul(Aa

(C) oS
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5.

One of the modern trends in
recreation is

(A) Exclusion of senior citizens
(B) Increased emphasis on e-sports

(C) Diminished use of outdoor
spaces

(D) Mandatory participation for

children

Which of the following is a
learner-centered teaching method
in physical education ?

(A) Lecture method

(B) Demonstration method
(C} Drills method

(D) Garne-based method

One of the main objectives of
teaching physical education is

(A) Development of motor skills and
fitness

(B} Academic achievement in sports

science

(C) Theoretical understanding of
exercise physiology

(D} Winning national

championships

5. WL B Holl2ol oll s YRS Yals

(A) RS oAlUR Stal KISl AWl
(B) &-2UleA 1A GUR dy USA @R
(C) AG2SIR wRULA e8| GuA12L

(D) o8l HI2 s lct eolletdl

6. 2335 QaeHl oAl AunHiell 585 ugld

ollwetl? HE@ 3ol B ?

(A) carvalet uald
(B) (ledlet ugld
(C) Sl ugld

(D) UA WHRct uald

7. WRRs Elag Ruan el As yual

HHEDRE.

(A} WRRS aHdl vl W2 Slactat
(Asiael Gaal

(B) 21 [Qsioni Aals Rl Gaal

(€) sl 23l [@Qstistoll Auilds
M

(D) Adla llaietallu eidl




8. In which way are sports considered

a part of cultural heritage ?

(A} Through organizing international
tournaments

(B) Through preserving traditional
games and values

(C) By establishing model leagues
(D) By commercializing local sports

9, The Commonwealth games were
originally known as
(A) British empire games
(B) World games
(C) Anglo-Saxon games
(D) Colonial sports festival

10. Given below are two statements, one
is labelled as Assertion (A) and the
other labelled as Reason (R).

Assertion (A) : Physical activity
and sports are recognised as the
fundamental right of every child
across the globe.

Reason (R) : Physically challenged
children enjoy the same right too,
irrespective of their physical or
mental status.

In the context of above two statements,
which one of the following statement
is correct ?

(A) Both (A} and (R) are true
(B) Both (A} and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

8. UANH A 58 A AirglAs cwAel
GUOL IRl HL pUA B ?

(A) widRAg2A utlAletl 220 % et
(B) URURADLc U Al YeRlle] Fclet

53lal
(€) vuys clotell 2euusu s3la

(D) 2etlols U Ale] a5 53l

9. 5lHoldcel JUA Y 56 A vllona B2
(A) @&let amwt 1A

(B) (s Ml
(C} BloAl-Astet 2HcA
(D) slclloflact M A

10. o1 A AL (AUl B, As o
eURYRAS (A) A Aolet AU clHl
W] B val ollostal 51281 (R) Sl
QG AU AUH] AUUR] B
gadl (4) : adlRs ygR wa
RUANMAA (AHcAReU €35 cllO1Sa
Hoo AUESLR AZ1E HloAAL AU

uLa B,

51201 (R) : 23RS 3 wasc cunsl
Aol 2wARSs wA HIRs R

oMl @At [@Qetl Mot WERsRA
VllolE HIQL 8.

GURlst ol [Auellotl Aeclul
ollAotHigdl 52j (Quilot W3 B,

(A) (A) vel (R) (1A U B
(B) (A) ¥al (R) A vllaL &
(C) (A) MY B UG (R)WE B
(D) (A) Wl B U] (R)AUYD




11. The sliding filament theory explains

muscle contraction by

(A) Actin and Myosin filaments
sliding past each other

(B) Muscle fibers expanding and
contracting

(C) Electrical impulses stimulating
the muscle

(D) Nutrient absorption in muscle
cell

12. In its typical chemical composition,
a muscle contains

(A) 50% carbohydrates, 30% protein,
and 20% other substances

(B) 60% fat, 30% carbohydrates and
10% proteins

{C) 70% protein, 25% water and 5%
minerals and vitamins

(D) 75% water, 20% protein and 5%
other inorganic substances

13. Neuro-muscular junction is the site
where

(A} Two muscles are connected
(B} Nerve and muscle fibers meet
(C) Bones meet at a joint

(D} Tendons attack to muscles

14. The direct method of measuring
energy cost of exercise is

(A} Calorimetry
(B) VO, max testing

(C) Heart rate monitoring

(D) Lactate threshold testing

11. et eS(Sat Sleunoe @l etiysil
U Uetal 56 Sld uHnA B

(A) Astlot wal Mot et As
ollostofl wAell w28l 280 B

(B) 0112) cicfdllej (el ol A5 Uet
(C) Ulallal Gl 5Rcll (At (220
(D) 2etl2) SlaH] Wns clecllo] 20uBl

12. doil cltlel@ls AuAQLs Aellsetu
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(A) 50% sollaleded, 30% WElet wa
20% el UELS]

(B) 60% urell, 30% stollstesfiau wol
10% W3lat

(€) 70% Wdlet, 25% wgll wat
5% o2l i) (Ao

(D} 75% Wwell, 20% Wdlet ual
5% o2l wslollas uelsd
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15.

16.

17.

18.

Which food product is rich in quick
releasing energy for post-exercise
recovery ?

(A) Whole grain bread

(B} Bananas

(C) Chicken breast

(D) Olive oil

The primary goal of rehabilitation in
sports injury management is

(A) Enhancing flexibility

(B) Restoring function and mobility

(C) Increasing muscular strength
only

(D) Reducing weight

The cori cycle involves the conversion
of

(A) Lactate to pyruvate in the
muscles

(B) Glucose to glycogen in the liver
(C) Lactate to glucose in the liver

(D) ATP to ADP in the mitochondria

Acclimatization to high altitudes
generally occurs within

(A) 1 -2 days
(B) 1 -2 weeks
(C) 2 -3 months
(D) 2 - 4 weeks

15. sud elleoll Yot YR 12 Gl
»suell Yoot sal HE 52 wiel weled

292 &
(A) 8l At a)s

(B) k0w
(C) Rsel Qe
(D) W [Ac U

RHAH ctell Portoll clerUUAH]
Yot Aololl YIUMS tA2 o{lA Yool &

(A) dUSUR adulRqg

16.

B) SRl ua alQelletuia
Yot [ 526

(C) HLA etile{l Horojcllui atlR
sl
(D) a%et Yelsq

18] UsHi ol Aotl 3ULAQAo
AHLAL AU B

(A) otizAHl wzde ol dAsee

17.

(B) A§ctHi dAdla5losot 2l agj510
(C) ASAHl X510 HI2 Asee

(D) Masicauni 3Ll ot .81l

18. AlHlo2l U Al (RQledR cielly) uR

Ui §Cot Aclloll UHA AU D
A) 1el2 Ran

(B) 1 &l 2 wsculdau
(C) 2 el 3 HR@sll
(D) 2l 4 usaulsa




List -1

i. Altitude a.

ii. Temperature b.

iii. Humidity c.

iv. Air quality d.

19. Match the following :

List - II

Impact the
efficiency of
cardiovascular
and respiratory

systems

Affects oxygen
availability
impacting
endurance
performance

Poor air
quality can
hinder athletic
performance

and recovery

Can lead to

heat stress and

dehydration
(Ayi-a idi-b idli-c iv-d
B)i-b ii-c¢ ii-a iv-d
(C)yi-a i-d iii-b iv-c
D)i-b 1i-d ii-a iv-c

19. ofl2 ¥QUAE otloldl 18 R 53

YR -1

i QR
yldewal

il. cdlUHLel

Aoy

iit.

iv. sclloll
djeLettl

A) i-a
(B) i-b
(C) i-a

D) i-b

ii—-b

ii—c¢

ii~d

ii-d

%@-‘ II

a. sSaAareeR

ol YUl dotoll
SH AL UR WAR

scll

b. wEA%etell

Gucstdlal
WA 52 B. A

Usatallsell
-l UR AU

538

c. dedlell stoioll

Sl
AAARS
sIHO(l3l wa
Yol YLl
ucRY Aol sA
TR

d. airHl el

ol (SalefFalet
dRs Elflad ®

lii-c¢ iv—-d

iii-a iv-d
iii-b iv-c

ifli—-a iv-c




20. Match the following : 20. o{1Q wRUAA clotdl WA AN $A
List ~ I List - II Ei[a. -1 }L@ -1
muscle mass & HAl og 291 1 [@Aooctl
and hormonal A (Al
influences a1
between AidRaula
genders yeudl
.. . : . i, dlRs . uldc AlAe
ii. Physiological b. Unique Aot 21216 Bell
gender challenges aglale QB
differences faced by female US5t3\ell AlHall
athletes, such sl U3 &
as female trait
i, (Qls - ¥llallell cuell &
iii. Special . The ability of UHA UUailealell
problems woman to UA Aa yldALe
adopt and ualell sl
respond to
traini
ramning iv. Lolledls . stelaticl wal
_ ' Uslausl Yot yllid
iv. Ergogenic . Substances 2l U2
aids or techniques .
used to enhance Guallopd
performance Attt weLel
and recovery w Ul dslis
(A)i~¢c ii-a ii-b iv-d (A)i-c idi-a {li-b iv-d
B)yi-c¢ ii-b iii-a iv-d B)yi-c ii-b ii-a iv-d
(C)i-¢ ii—-a iii-d iv-b (C)i-c ji-a iii-d iv-b
D)yi-c ii-d ii-a iv-b (D)i-c 1i-d ii-a iv-b




21. Movement around a longitudinal axis
typically involves
(A) Inward rotation
(B} Rotation

(C) Circumduction

(D) Outward rotation

22. The ideal angle at which the projectile
is released with the aim of achieving
maximuim range

(A) 30°
(B) 45°
(C) 60°

(D) 75°

23. Latissimus Dorsi is situated in
(A) Upper arm
(B) Lower leg
(C) Thigh
(D) Back
24. “Trapezius” muscle help in
(A) Raising the leg forward
(B) Pushing the neck backward
(C) Raising the leg backward

(D) Pushing the arm forward

21. dwiglla metell 52a adl Betauanl
UM I A B

(A) Setas A23let
(B) A2t
(C) YRaMYL

(D) ollaL A2l

22, HeTH 3% &lUA scllall 3qell A
UE A VR UR cre] BlsaHi wA B
ulle 9l slet

(A) 30°
(B) 45°
(C) 60°

(D) 75°

23. ARuMAU Sl et

(A) slaUell GURell GUILHL
(B) ULt oflAsll GUOML
(C) ostelHl

(D) Ulsni

HiHEE

24. “2uRaW iy
53 8.

(A) U WL ARS QLA scUHE
(B) 2l2€0lal ULESN RS VlACUH]
(C) ol Wesell 2§ QLA sUMi

(D) &laUA w2l Uubc UMl
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25.

28.

26.

27.

The perpendicular axis around which
the transverse plane moves is called
to be

(A) Longitudinal axis
(B) Sagittal axis
(C) Frontal axis

(D) Transverse axis

RST stands for

(A) Resistive Strength Training
(B) Resistance Strength Training
(C) Resistive Speed Training

(D) Resistance Speed Training

From the following, which is the
movement that takes place along
sagittal plane and around frontal
axis

(A) Flexion

(B} Abduction

(C) Adduction

(D) Circumduction

Bernoullis principle helps to
explain

(A) The objects float on water

(B) The lift is generated in sports like
golf and tennis

(C) The air resistance slows down a
runner

(D) The pressure affects motion in
underwater

25. o U weto(l WU 2l ] W&ot

26.

27.

28.

A 52 B A s&cllH
WA B,

(A) Wdiglm
(B) Awec wat
(C) &t
(D) glodcl 8

RAUI ol wel w82
(A) YAAUS sl ctellu
(B) 43S st el

(€) uldAus sy dlelln
(D) HaAAuUs BSU Alelln

oflA 3orol A sCol Aol A2
UH A UR wal wdladl watell
VUL W2 B

(A) $AS2Uet
(B) wois591et

(C) uS53Uat
(D) URSHSHAUA

olollcllal Rtald Aol HEE
A B

(A) wetsll well R 2 ®

(B) 205 val 2[Au ell 21l
Geusl Ul B

(C) gcuail AR Elscfla Ll wd

(D) €ouel wiellell vie? ofl olda w2
538
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29,

30.

31.

In the human body, the most powerful
muscles are those of the

(A) Shoulders
(B) Trunk

(C) Abdomen
(D) Legs

Match the following.

List -1 List - I1
i. Synarthroses a. Freely
movable
ii. Diarthrosis b. Slightly
movable
ii. Amphiarthroses c. Immovable
iv. Synovial d. Hinge
{A)i-d ii—-a ii-b iv-c
(Bli-d ii-b idi-a iv-c
(C)i-c idi-a ili-b iv-d
(D)i-c ii—-b iii—-a iv-d
Relaxation techniques in Sports

Psychology aims to
(A) Increase tension and anxiety

(B) Improve mental focus and
concentration

(C) Reduce stress and improve
recovery

(D) Enhance confidence and
competitiveness

29. ooy 2211 Alell aGAguoll
RollYAML AL 0GR AU B

30.

31.

(A} weuell
(B) g5l
(C) W2etll
(D) Woleil

o{lA RUAA clLotcl W Ra 52,

%L@ -1 %L[a - II
i ReifRn a. Hsctud 53l
AS AH S
i, slARYRAA b. ud%
SCAUCAA
sdlasiadqg
ifi. @A ¢ @R
iv. RelQact d. ([
(A)i-d ii-a ii-b iv-c
(B)i-d ii-b ili-a iv-c
(C)i-c ii-a iii-b iv-d
(D)i-c ii-b iii-a iv-d

Rl Holl[dsiotti RAsNAUotoll 2 (1A
Yo 8
(A) claiet vlal Rl auRl s

(B) HioARls et vl Blslotdiul
a2 sdl

(C) cllllel uetd & wol Yot:ylliaul
YURL S D

(D) e [QuH W *UtlHS L Ui
i
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32.

33.

34.

35.

Which type of group cohesion refers
to the interpersonal relationships
among group members ?

(A) Task cohesion
(B) Social cohesion
(C)} Team cohesion

(D) Formal cohesion

Which cognitive process is critical for
athletes during competition ?

(A) Sensory attention

(B) Memory re-call

(C) Sensory overload

(D) Memory recognition

Which leadership style is often most
effective in sports settings ?

(A) Autocratic leadership

(B) Laissez-faire leadership

(C) Democratic leadership

(D) Transactional leadership

What type of thinking is crucial

during high-pressure situations in
sports ?

(A) Linear thinking

(B) Reflective thinking
(C) Divergent thinking
(D) Analytical thinking

32.

33.

34.

38.

52Ul YSlR0] U USCol YUsil oA
RAAL WA dAGEA oA YUA & ?

(a) st deule
(B) AHLBs Al dl
(C) &lH Ascat

(D) 2UUA RS A5l

utd £ aet Al W2 58
sllellcH s Ul Hoccle(l &

(A) dAEallcHS tallal
(B) AR Rl

(C) dAEatlcts ildeuR

(D) AAR 2w

RUAINH AL Al AlABHL 585
[@s29llu alell el ay w5128 Al
&

(A) g Ad

B) Adlx ¥ aAq

(C) Alsauél Adcal

(D) glo?5aalct olefccl

AHAIHAHL 8185 Yool uRRAAH]

Sat ysRe(l [QaRuRell oy Hecsll
B

(A) fla Qaruegl

(B) QA Qe
(C) o€l o€l [Qauzuzefl

(D) ([QeAmGUMS [Quue(l




36. Performance anxiety is characterized
by

(A} Enhanced focus and execution

(B) Fear of failure and affecting

performance negatively
(C) Increased energy and motivation

(D) Complete calmness and

relaxation

37. can be anything that

arouses an organism toward action

for a desired goal.
(A) Learning

(B) Re-inforcement
(C) Motivation

(D) Recognition

38. primary motivation is the very

basic function of self-preservation.
(A) Physiological oriented

(B) Biologically oriented

(C) Sociological oriented

(D} Emotionally oriented

36.

37.

38.

sl Rlctell cual@s d <l
Yoy B

(A) Gooird tallel WA UHAlSWL

(B) Llrssncuell e sinolldla
AS1RAHS Tl UUR 53 B

(C) Graini AU YQUHL Al

(D) Ayl A A AR

A (P RVER-E

A 23 B B SR LA 1R 2fRA A
scll HI2 %2U3 8.

(A) 2llug
(B) Hosojcllse
(C) Yeu

(D) AW (HloAcll)

Yte@s Y0 3l e-olLclo] ol
oo sl &

(A) alReulla A cell
B) ¥clls cell
(©) uHerarRla da ael

(D) dlaais A aell
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39. Match the following.

List - I List - II
i. Hierarchy of a. Focuses
need theory on intrinsic
and
extrinsic
motivation
ii. Achievement b. Involves the
motivation pursuit of
theory challenging
goals to
enhance
performance

iii. Self-determination c.

Describes the

theory progression
of human
needs from
basic to self-
actualization
iv. Goal-setting d. Emphasis the
theory importance
of setting
smart
(A)i-c idi—-b idii—-a iv-d
B)i-b i-c idii—-a iv-d
(Cti—-d i-c idii-b iv-a
(D)i-a ii-b idii-c iv-d
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40.

41.

42.

Given below are two statements
one is labelled as Assertion (A) and
other labelled as Reason (R)

Assertion (A) : Sports Psychology
is understood as a study of human
behaviour in sports setting at all levels
of performance and competition.
Reason (R) : If all other things
are equal, the athlete with better
mind training and psychological
preparation will overtake competitors
in performarnce.

In the context of above statements,
which one of the following is true ?

Codes :

(A) Both (A) and (R} are true but (R}
is not the correct explanation of
(A)

(B) Both (A} and (R) are true and (R)
is the correct explanation of (A)

(C) {A) is true but (R) is false
(D) {A) is false but (R) is true

Which agency is primarily responsible
for regulating teacher education
programs in physical education in
India ?

(A) AICTE
(C) UGC

(B) NCERT
(D) NCTE

Which of the following is a recent
government initiative aimed at
promoting physical education in
schools ?

(A) Beti Bachao, Beti Padhao

(B) Khelo India

(C) Digital India

(D) Make in India
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43. The National Education Policy
(NEP-2020) emphasizes the

importance of physical education
in order to

(A) Increase academic performance
only

(B) Develop a holistic approach to
students development

(C) Focus exclusively on sports
achievements

(D) Limit physical activity in schools

44. In which sector is funding for sports

infrastructure and facilities primarily
found in India ?

(A) Public sector

(B) Private sector

(C) Non-profit organizations
(D) International agencies

45. The importance of selecting subject

matter in curriculum design is to

(A) Ensure uniformity across all
educational institutions

(B) Cater to the divers needs of
students

(C) Simplify teaching methods

(D) Focus solely on competitive
sports

46. Which of the following technologies

can enhance learning in Physical
Education ?

(A) Fitness trackers

(B) Social media platforms

(C) Food technology

(D) Pharmaceuticals technology

43.

44,

45.
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47.

48.

49,

50.

Which method is commonly used in
the appraisal of physical education
curricula ?

(A) Observational studies

(B) Solely student feedback

(C) Financial audits

(D) Random selection of subjects

Which policy focuses specifically

on the development of sports

infrastructure in India ?

(A) National Health Policy

(B) National Sports Development
Code

(C) National Educational Policy

(D) National Policy on Women

The purpose of the Khelo India
initiative is to

(A) Reduce academic pressure on
students

(B) Promote grass roots level sports

(C) Limit sports participation to
elite athletes

(D) Increase health awareness

Quality assurance in physical
education programs primarily
involves

(A) Reducing students participation

(B) Ensuring curriculum relevance
and effectiveness

(C) Increasing administrative
workload

(D) Eliminating physical activities
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51.

52.

53.

54.

National Health Programs in India
primarily focus on

{A) Increasing health care costs

(B) Addressing communicable and
non-communicable diseases

(C) Reducing health care access for
the poor

(D) Solely promoting private health
care

Obesity is most commonly defined as
(A) Having a BMI of 18.5 or lower
(B) Having a BMI of 30 or higher
(C) Being underweight

(D) Being physically fit

What is the first step in providing
first aid for shock ?

(A) Giving food or liquid

(B) Laying the person down and
elevating the legs

(C) Moving the person to be different
location

(D) Check their pulse

ELISA and Western Blot tests are
generally used to defeat HIV infection
in human

(A) Lymph
(B) Blood
(C) Saliva
(D) Senses
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55.

56.

57.

58.

Look at the following paired disease
and cause combinations and point

out which of the pairs is mismatched ?
(A) Malaria — Plasmodium

(B) Tuberculosis — Mycobacterium

(C) Pneumonia - Pneumococcus
(D) Bronchitis — Mycobacterium
boris

As compared to those living in
tropical regions people who live in
cold climates have higher metabolic
rates almost by

(A) 5% to 10%

(B) 10% to 20%
(C) 20% to 30%
(D) 30% to 40%

Name the microbes that are hundred
percent disease causing organisms.

(A) Fungi
(B) Protozoa
(C) Bacteria

(D) Viruses

Calorie requirement varies from
person to person depending upon
several factors more appropriate
includes

(A) Height and weight
(B) Age and gender
(C) Lifestyle and activity

(D) Tissue and muscle type
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59.

60.

.Match the following :

List - I

i. Indian Council
of Child Welfare

ii. Tuberculosis

List -1I
a. 1953

Association of India b. 1949

iii. Central Social
Welfare Board

iv. Family Planning

c. 1952

Association of India d. 1939

ii—d
ii—-b

A)i-c
B) i-a
(C)i-d
(D) i-b

ii—a

ii—-d

iii-a iv-b

iii-d iv-c
iii-c iv-b

ili-c iv—a

Match the following :

List - I
i. Lipids a.

ii. Bonking b.

List - II

State of fuel
depletion for
immediate
exercise
Impact of

drug use, abuse
and chemical

dependency
ili. Drug c. Amount of
Education energy used at

iv. B.M.R. d.

complete rest
Varied organic
components of
glycerol, fatty acids

(A) i-c ii-d ii-b iv-a
B)i-a ii-b iii-c iv-d
(C) i-d ii-a iii-b iv-c
(D) i-b ii-d iii-a iv-c
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ai[a -II
a. 1953

b. 1949

c. 1952

iv. ¥Rl wollal
ENEI B
g Soslall

A)i-c ii-d

(B)i-a ii-b

(C)i-d ii-a

(D)i-b ii—-d

d. 1939

iv—Db
iv—rc
iv—b
iv—a

ii—a
iii —d
ili-c
iii — ¢

ollAefl silotAla Nen 53,

YR -1
i. @Jds a.

ii. oloislol b
iii. ecl c.
(Blatat

iv. B.M.R. d.

ii—-d
ii-b
ii—a

(A) i-c
B)yi—a
(C)i-d
D)yi-b

ii-d
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61.

62.

63.

64.

Which of the following is NOT a
symptom of over training ?

{A) Decreased performance
(B) Increased irritability
(C) Improved sleep quality
(D) Chronic Fatigue

It is defined as “the ability to exert
maximal force in a single effort”.

(A} Strength endurance
(B) Explosive strength
(C) Maximum strength

(D) Relative strength

Currently in practice the most widely
used interval training load is

(A) Heart rate
(B) Training hours
(C) Lifted weight

(D) Distance covered per unit of
time

Give the following sport fundamentals
learning processes leading to winning
performances.

(A) Skill —» Technique — Tactics —
Strategy

(B) Technique — Skill —» Strategy —
Tactics

(C} Skill - Technique — Strategy —
Tactics

(D) Strategy — Technique — Tactics
— Skill
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65.

66.

67.

68.

Which of the following types of speed
is characterised by short bursts of
high intensity activity ?

(A) Speed endurance

(B) Acceleration

(C) Reaction speed

(D) Maximum speed

is the consumption of
maximum volume of oxygen that
can be utilized (or) consumed by the
working muscles per minute.

(A) O, debt (B) O, deficiency
(C) VO, max

(D) Vital capacity

From out of the following training
methods, mark the one which is most
suited to ensuring body adaptation ?

(A) Interval training
(B) High altitude training
(C) Circuit training
(D) Fartlek training

From out of the following randomly
arranged training plan sequences,
select the one which is correct and
most appropriate.

(A) Micro-cycle plan, conceptual
plan, macro-cycle plan,
meso-cycle plan

(B} Conceptual plan, micro-cycle
plan, meso-cycle plan,
macro-cycle plan

{C) Micro-cycle plan, meso-cycle
plan, macro-cycle plan,
conceptual plan

(D) Meso-cycle plan, micro-cycle
plan, conceptual plan,
macro-cycle plan
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69.

70.

71.

Match the following :
List - I

i. Periodization a.
work

ii. Super
compensation b.

iii. Intensity c.

List -II
Rate of doing

Transfer

Phases of

training

iv. Talent d.
(A)i—-c ii-d
(B)i—-d
(C)i-c
(D)i—-a

ii—-c¢
ii—d
ii—b

iii—-b
iii — d
Match the following :

List -1

i. Gimbel’s model

a
ii. Harre’s model b.
iii. Balyi's model C.

iv. Bompa’s model d.

(A) i-c
B) i—d
(C)i-b
D) i-a

ii-d idi-b
iii—-a

ii—-d

ii-c¢
i—a

i—-d iii-c

Which of the following is NOT an

ethical issue in research ?
(A) Informed consent

(B) Plagiarism

(C) Data falsification

{D) Accurate reporting

Adaptation
iii—-a iv-b
iii—-a iv-b
iv—-a

iv—_c

List -II
. 1985

2001
1976
1982

iv—a
iv-b
iv—c

iv-b
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72.

73.

74.

78.

Which of the following is a characteristic
of descriptive research ?

(A) It manipulates variables to
determine effects

(B) It focuses on understanding a
phenomenon without intervention

(C} It relies on historical documents
for analysis

(D} It tests hypothesis through
experiments

What is the first step in formulating
a research problem ?

(A) Conducting a literature review
(B} Defining the research objectives

(C) Identifying a gap in existing
knowledge

(D) Selecting the research methods

Which sampling technique involve
selecting participant’s randomly from
the population ?

(A) Convenience sampling

(B) Quota sampling

(C) Stratified sampling

(D) Probability sampling

Which tool is most commonly used

for gathering qualitative data in
research ?

(A) Questionnaires
(B) Observation

(C) Opinionnaires

(D) Interviews
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76. What is research hypothesis ?

{A) A fact that has already been
proven

(B} A wild guess without only basics

(C) A tentative statement that can be
tested

(D) A widely accepted theory

T7'7. What are the ethical issues in
research ?

(A) None exist in research

(B) Maintaining confidentiality and
avoiding plagiarism

(C) Maintaining data for personal
gain

(D) Ignoring research participants
rights

78. What is the purpose of literature
search in research ?

(A) To eliminate the need for data
collection

(B) To review existing literature and
gather relevant information

(C) To find the latest fashion trends

(D) To search for entertainment
options

79. When is non-parametrical statistical
techniques typically used in research ?

(A) When data does not meet the
assumptions of parametric data

(B) To analyse numerical data
(C) To test cause and effect relationship
(D) To analyze qualitative data
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80.

81.

82.

83.

It is a recording form used for
measuring individual attitude,
aspirations and other psychological
and behavioural aspects and group
behaviour

(A) Check list
(B) Inventories
(C) Rating scale
(D) Interview

From out of the following tests, select
the test which is known as minimal
strength test

(A) Kraus-Weber test
(B) Gross-Max test

(C) Barrow general motor fitness
test

(D) AAPHER motor fitness test

Summative evaluation carried
out by the teachers at the end on
instructional unit, may lead to

(A) Better student learning
(B) Sustainable transfer effect
(C) Taking crucial decisions

(D) Greater student-teacher
relationship

For which of the following types of
tests are the judges ratings sometimes
applied as the valid criteria ?

(A) Sports skill tests

(B) Performance tests
(C) Speed tests
(D) Motor skill tests
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84.

85.

86.

87.

Which of the following body positions
enables the anthropometry expert
to measure circumference of the
buttocks ?

(A) Sitting

(B) Standing

(C) Lying

(D) Bowling

According to the principles of motor
skill acquisitions, the ease and

thoroughness with which a child
learns new motor skills is called

(A} Motor quality

(B} Motor trainability
(C) Motor educability
(D) Extent flexibility

If you subtract your fat mass from
your body mass you will get your

(A) Ideal body density
(B) Best body image
(C) Total body mass

(D) Lean body mass

is used to assess the
pattern of fetal growth.

(A} Glycemic index

(B) Ponderal index

(C) Body mass index

(D} Physical fitness index
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88.

89.

90.

91.

is the systematic acquisition
and assessment of information to
provide useful feedback about some
object.

(A) Test

(B) Measurement

(C) Evaluation

(D) Skill

What is the primary purpose of
fitness test ?

(A) To compare individuals based on
their appearance

(B) To promote unhealthy behaviours

(C) To assess an individual’s physical
health and well-being

(D) To determine the best athlete

The purpose of testing physiological
phenomena is

(A) To assess academic performance
(B) To measure physical fitness
(C) To evaluate mental toughness

(D) To understand the body’s
responses to exercise

Among the following, which concept
and synonymous with self appraisal ?
(A) Self-efficacy

(B) Self-assessment

(C) Self-actualization

(D) Self-abusement
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92.

93.

94.

95.

96.

When we communicate with others,
the percentage of our time we spend
in listening is

(A) 60%
(C) 59%

(B) 55%
(D) 45%
Verbal communication refers to two

things, one is effective speaking and
the other is

(A) listening
(C) arguing

(B) attending
(D) observing

By all stretch of imagination, good
time management involves

(A) meta-thinking
{B) effective planning
{C) setting goals and objectives

(D) drawing boundaries

In the management domain, human
relations skills are also known by the
name of

(A) Inter personal skills
(B) Inter group skills

(C) Group skills

(D) Outer individual skills

Who has described three
developmental levels of the
supervision process and eight
dimensions ?

(A) Stolenberg and Delworth

(B) Lee-Borden and Lorenz

(C) Adams and Dicky

(D) Harold Spears and Skouholt
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97. is a planned program for

improvement of institution ?
(A) curriculum
(B) observation
(C) supervision

(D) evaluation

98. The best method of sports
administration is

(A) Laissez-Faire
(B} Dictotorial
(C) Democratic

(D) Autocratic

99. The objectives of supervision in
sports management is

{A) To avoid all forms of oversight
and insight

(B) To maximize profits and
production

{C) To ensure efficient and effective
operations

(D) Toeliminate the need for managers
and employees

100. Personal management is an extension
to management,

(A) Sports
(B} Specific
(C) General

(D} Finance
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